
60 

H
AN

D
LES, PU

LLS & K
N

O
BS

Installation

Installation

Installation

Item No. L B1 B2 H1 H2 d Weight (g) Box (pcs) Carton (pcs)
FK-100-WW 100 (3-15/16") 13 7 28.5 (1-1/8") 19 M4 × 0.7 60 5 150

Material Finish
Brass Satin Nickel

Item No. L B1 B2 H1 H2 d S Weight (g) Box (pcs) Carton (pcs)
FM-120-WW 120 (4-23/32") 13 7 28.5 (1-1/8") 19 M4 × 0.7 8 85 5 150

Material Finish
Brass Satin Nickel

Item No. L B1 B2 H1 H2 d S Weight (g) Box (pcs) Carton (pcs)
FM-220-WW 220 (8-21/32") 18 10 41 (1-39/64") 28 M5 × 0.8 9 280 10 80

Material Finish
Brass Satin Nickel

PITC
H

 AD
JU

STABLE H
AN

D
LES

PITCH ADJUSTABLE HANDLE FK-100-WW

PITCH ADJUSTABLE HANDLE FM-120-WW

PITCH ADJUSTABLE HANDLE FM-220-WW

M4×28

M4×28

M5×35

DISCONTINUED

1-514-321-5267
(Canada Only)

www.sugatsune.ca


